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V=0.

033 4

. 083

. 083




B L H
( _In ( _In ( _In (_m3
0.21 0.04 0 .50 0. 040 2
0 .01 0 .01 0 .30 0. 030 0
0.01 0.02 0.30 0. 060 O
0.21 0 .03 0 .50 0. 080 1
0.21 0 .53 0 .50 0. 010 2
0.21 0 .52 0 .50 0. 050 1
0.21 0.05 0.30 0. 0801
0 .01 1.53 0 .50 0. 080 6
0.01 1.00 0 .50 0. 000 5
0 .51 0 .51 0 .50 0. 010 1
0 .50 0.01 0 .50 0. 0300
0 .01 1.03 0 .50 0. 050 6
0.01 0.01 0.30 0. 0300
0 .01 0 .06 0 .50 0. 000 3
0.01 0 .51 0 .50 0. 0800
0 .01 0 .01 0 .50 0. 050 O
0. 083 4
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m 0.58| (0. 02k
kg 0.22




V 1, 05%gB8m

B L W
(_Im (_Im ( _Kg
0.00020.04 0.00
0.00020 .54 0.01
.58 0.061

H x L x

V 1, 080kgB8m B 50 mm H 3 mm

B L W
( m k)g
0 .50 .04 0.20
0 .50 .54 0. %1
.58 0.21

H x L x
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t =m0 m m 8 .25

t =510 m m 7 .62
t =nd c n2 8 .22

3cm 6cm ne 4 .49
n8 0 .42

n8 0.33

( ) n8 0 .42
24-1HR-25 n8 0 .42
n2 1.80

ES( ) m 7 .62
M2 12
SD348, D1 kg 3 24.
70 0 142
D, o As013 1y 8 .22
M- 30,nll B0 m 8 .22




( t =%30mm

Al 3.57 = 3.57 m
A2 4 .77 = 4 .77 m
> = 8.25 m
( t =50mm

Al 3.36 = 3.36 m
A2 3.36 = 3.36 m
> = 7.62 m

( t 94cm
Al 3.37 = 3.37 n2
A2 4 .94 = 4 .94 n?
> = 8.22 n?

(t=%bcm
Al 3.6x3(20. 38+0. 30) = 2.74 n2
A2 3.6x3(20. 38+0. 30) = 2.74 n?
> = 4 .49 n?

( )
( )
Al 2. 40 .50 = 0.21 n3
A2 2. 40 .50 = 0.21 n3
> = 0.42 n3
8. 202 .40 = 0.33 n3
C )

0 .42 = 0.42 n3

(24-1%2-25H
Al 3. 6x3(20 . 3 8 +x00..800 ) = 0.21 n3
A2 3. 6x3(20 . 3 8 +x00..800 ) = 0.21 n3
> = 0.42 n3



Al 3. 6x302. 0x530
A2 3. 6x302. 0x530
9. (EY )
Al 3.83
A2 3.83
10
Al 14 2x2
A2 14 2x2
11 (SD345, D13
Al
HL 0. Ox4154 2x 2x 0. 9 9 Mk g/
H 3. 4x328 2x 0. 99 mk g/
A2
HL 0. Ox4154 2x 2x 0. 9 9 mk g /
H2 3. 4x328 2x 0. 99 mk g/
12 ( 70 )
Al 3 . 6x302. 0x012000
A2 3 . 6x302. 0x012000
13 ( () As(13) ,)t=40mm
Al 3.37
A2 4.9
14 ( , t =3)0 mm
Al 3.37
A2 4.9
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